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> xA=-c(10.08, 10.11, 10.09, 10.10, 10.12)
> mean(xA)

[1] 10.1

> var(xA)

[1] 0.00025

> sd(xA)

[1] 0.01581139

> sd(xA)/mean(xA)
[1] 0.091565484

>
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Ve Jlia

x=c(0.51,0.51,0.51,0.50,0.51,0.49,0.52,0.53,0.50,0.47,0.51,0.52,0.53,0.48,0.49,0.50,0.52,0.49,0.49,0.50,0.49,0.
48,0.46,0.49,0.49,0.48,0.49,0.49,0.51,0.47,0.51,0.51,0.51,0.48,0.50,0.47,0.50,0.51,0.49,0.48,0.51,0.50,0.50,0.5
3,0.52,0.52,0.50,0.50,0.51,0.51)

> hist(x)

hist(x,prob=TRUE)

>
> curve(dnorm(x, mean=mean(x), sd=sd(x)), add=TRUE)
> table(x)
X
0.46 0.47 0.48 .49 0.5 0.51 9.52 9.53
1 3 5 10 10 13 5 3
> mean(x)
[1] ©0.4998
> sd(x)

[1] 0.01647385
> n=length(x)
>

Histogram of x

o
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>

1Y Jlia

> CIU=mean(x)+qnorm(8.975)*sd(x)/sqrt(n)
> CIU

[1] 0.5043662

> CIL=mean(x)-qnorm(8.975)*sd(x)/sqrt(n)
> CIL

[1] 0.4952338

>

> CIU=mean(x)+qnorm(8.995)*sd(x)/sqrt(n)
> CIU

[1] 0.505801

> CIL=mean(x)-qnorm(8.995)*sd(x)/sqrt(n)
> CIL

[1] 0.493799

>
> |

VY Jlia

meanx=0.461

sdx=0.003

n=10
CIU=meanx+qt(0.975,9)*sdx/sqrt(n)
CIu

[1] @.4631461

>
>

CIL=meanx-qt(0.975,9)*sdx/sqrt(n)
CIL

[1] ©.4588539

VY e

x=c(2.15,1.13,2.04,1.45,1.35,1.09,0.99,2.07)
y=10g10(x)

n=length(x)
logCIU=mean(y)+qt(8.975,7)*sd(y)/sqrt(n)
logCIU

[1] 0.2810972

> logCIL=mean(y)-qt(8.975,7)*sd(y)/sqrt(n)
> logCIL

[1] 6.05287302

> CIU=10A(logCIU)

> CIU

[1] 1.910281
> CIL=10A(logCIL)

> CIL

[1] 1.129466
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Vv Jlw
> ####example 17
> x=c(50.4,50.7,49.1,49,51.1)
> t.test(x,mu=50,alternative="two.sided",conf.level=0.95)

One Sample t-test

data: x
t = 0.14041, df = 4, p-value = 0.8951
alternative hypothesis: true mean is not equal to 50
95 percent confidence interval:
48 87358 51.24642
sample estimates:
mean of x
50.06

A Jlw
>
> ####texample 18
> |
x=c(0.51,0.51,0.51,0.50,0.51,0.49,0.52,0.53,0.50,0.47,0.51,0.52,0.53,0.48,0.49,0.50,0.52,0.49,0.49,0.50,0.49,0.
48,0.46,0.49,0.49,0.48,0.49,0.49,0.51,0.47,0.51,0.51,0.51,0.48,0.50,0.47,0.50,0.51,0.49,0.48,0.51,0.50,0.50,0.5
3,0.52,0.52,0.50,0.50,0.51,0.51)
> t.test(x,mu=0.51,alternative="two.sided",conf.level=0.95)

One Sample t-test

data: x
t = -4.3781, df = 49, p-value = 6.274e-05
alternative hypothesis: true mean is not equal to 0.51
95 percent confidence interval:
©.4951182 ©.5044818
sample estimates:
mean of x
0.4998

Yo Jbo
##t#example 20
x=c(59,56,56,59,57,55)
y=c(59,59,59,58,55,57)
t.test(x,y,alternative="two.sided",conf.level=0.95,var.equal = TRUE)

v VvV VYV

Two Sample t-test

data: x and y
t = -0.88113, df = 10, p-value = 0.3989
alternative hypothesis: true difference in means is not equal to @
95 percent confidence interval:
-2.940597 1.273931
sample estimates:
mean of x mean of y
57.00000 57.83333



> var.test(x, y, alternative = "two.sided")
F test to compare two variances

data: x and y
F = 1.0909, num df = 5, denom df = 5, p-value = ©0.9263
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:
©.1526519 7.7960@529
sample estimates:
ratio of variances

1.0969e9

Y1 Jlo

##t#example 21
x=c(1.84,1.92,1.94,1.92,1.85,1.91,2.07)
y=c(2.81,4.06,3.62,3.27,3.27,3.76)
t.test(x,y,alternative="two.sided",,conf.level=0.95,var.equal = FALSE)

v VvV Vv Yy

Welch Two Sample t-test

data: x and y
t = -8.4772, df = 5.2528, p-value = 0.0002937
alternative hypothesis: true difference in means is not equal to @
95 percent confidence interval:
-2.004938 -1.082205
sample estimates:
mean of x mean of y
1.921429 3.465000

> var.test(x, y, alternative = "two.sided")
F test to compare two variances

data: x and y

F = 0.029451, num df = 6, denom df = 5, p-value = 0.06005021
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

0.004220663 0.176336947

sample estimates:

ratio of variances

0.02945053
Y Jte
##iHexample 22
x=c(84.63,84.38,84.08,84.41,83.82,83.55,83.92,83.69,84.06,84.03)

y=c(83.15,83.72,83.84,84.2,83.92,84.16,84.02,83.6,84.13,84.24)
t.test(x,y,paired=TRUE, alternative="two.sided",conf.level=0.95,var.equal = FALSE)

Vv Vvyv:'

Paired t-test

data: x and y

t = 0.88211, df = 9, p-value = 0.4007
alternative hypothesis: true difference in means is not equal to @
95 percent confidence interval:

-0.2487527 0.5667527

sample estimates:
mean of the differences

9.159
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###texample25, 26
library(outliers)
x=c(0.403,0.41,0.401,0.380)
dixon.test(x)
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Dixon test for outliers

data: x
Q=0.7, p-value = 0.1721
alternative hypothesis: lowest value 9.38 is an outlier

>

> x=c(0.403,0.41,0.401,0.380,0.4,0.413,0.408)
> grubbs.test(x)
Grubbs test for one outlier
data: x
G = 2.0343, U = 0.1953, p-value = 0.02161
alternative hypothesis: lowest value 0.38 is an outlier
> dixon.test(x)
Dixon test for outliers
data: x
Q - 0.60606, p-value = 0.0308

alternative hypothesis: lowest value 0.38 is an outlier

>
>



